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1. snirevey elldllig /
1
A) Qauudeoe brprdessd Gurg V « =
B)  oyuwssb orordmeeh Gurg Vo T

C)  2wHsh wrprEmeeh Gurg V « 11

1
D) &l ene wrprHmHed Curg P « 3

‘ : According-to Charles’ law A
' /

1 y ? o’

A) Vx B where T 1s constant B) V « T, where P is constant
' 1 s 1
C) V. x ? where P is constant D) P« ? where V is constant.
2.  @péaau swdiuT@eete g sfurer eumretmitaireen sneTUT® 2
2

an _
A)  |P-—|{V-b)=nRT

v2

an2

B) [P+- ](V—nb)=RT
Vv

2
c |p-Z2 | (V-nb)=nRT
e
@ an2
D} [P+ (V'-nb) = nRT.
V2

Which one of the following equations correctly représents the van der Waals
equation ?

an2

a  |p-E

2 (V -b)=nRT

)
B) P+a3 ](V—nb)-RT

2
¢ [P-ZZ_|(V-nb)=nRT
s % L
m/ i
. : . |P+—|(V-nb)=nRT.
] F V2
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8. UJereumeuatoubibléy erg Lig.s a.@cuﬁnr,brpg; ?
A}  eweurd “d ™ B) dlyrdoemul
C)  eeooraunmyg. D) er0di@id 2 Oy,
Which of the following is an amorphous solid ?
A) /Diamond B)  Graphite
CL/ 2 Glass ' ‘ D) Common salt.

4. Sereumd cusryuLhmelléd erg Lmbden el @fesaddama

C) ogP D) |

C) logp D)

log V

<|~

5. .02 N HyS0, e Gumremfiiig

A) 02 ‘ B) 04
"C) 06 ' D) O1.
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Molarity of 0-2 N H,SO, 1s
A) 0-2 | ‘B) 0 4
c) 06 ~ o 01,
6. GO Wuovurer sHHG Came Glalyb umboyges eregior_Ggmull wrhmib
A) I, >0 : B) 1y <0 |
C) I;=0 D) I ;& sauibdll qpigquirg.
The change in entropy of a working ﬂﬁid undergoing a complete cycle is
A I,>0 B) I, <0
ChWIg =0 : D) I4 indeterminate.
7. CurGairdleflais Ly s yemoliy,
A) am=B=y=90° B) a=p=90°
C) a=y=90° : D) a=B=y=120"

The crystal system of Monoclinic is

A) a=PB=y=90" B} a=$=90°

C) o=y 907 DA 1@ EIfFE $=0Z01.
8. CsCl et Lig & eulg euanIDLIL]

A) hcp . ‘ B) ccp

C) bec ' D) fee.

The cr&stal structure of CsCl is
A} hep ‘ B} ccp
el /t;cc D} fec.
9. Veéraupd sursbdluhsefie sapre sahapsd gnps.
A)  ouBslgr ety = 6-023x10%!

B} snrefl fensGeusgdib@n (V) @by eljrrarﬂ Qs e Qm&@m&ﬁ@m@n (u)
2 _effer GlgmLimy v = O 9213u

C) 710 eumuellest SDEHBD. BiHed syra @ués hpere ETTHSE e

D) o® auryallst @mwy srmefl airbe we HeaeGousd (u) sawrhLL vwesTLI(D
eumbm® u= SPV
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‘Whichof the following statements is false ?
A)/ Avogadro's number = 6-023 x 1021

B) The relationship between average velocity (v) and root mean square

velocity (u) is v = 0-9213u

C)  The mean kinetic energy of an ideal gas is independent of the pressure of
' the gas ‘

D)  The root mean square velocity (u) of a gas can be calculated using the

3PV
formula u=.——.
M

10.  Fe,Og+3H, , —2Fe , +3H,0,, e allen et ég mwbrr GeaniuBleneiés wHmib
ereuauTn GBT_fUURSSIULH 2 eferg) 7
A) AH=AE \ B) AH=AE+RT
C) AH=AE+3RT D) AH=AE-3RT.
A Hand A E for the reaction

Fe O, . +3H ——>2Fe(s] +3H20m at constant temperature are related as

27 3(s) 2(g)
A)  AHLAE ' B) AT SAE+AT
C) AH=AE+3RT D)/ AH=AE-3RT.

11, eumesorLit eumevely sweTUTLRhHE 2L U@D Gueéy eury eri@urg meieiiuey aimyeel
56 BEEGD
A)  awhpd b e vHiy Gonars @)GSHS60
B) a uSIf‘c'rr Y3 g{é]&,._mrr&;mfd b e wdliny @mﬁ)mn&sqm,@@g'gga')
C)  ader wdiy @opamsab b e wiiy cgqé]aa@rrssaqtb AGEEL,
D) awppb b e iy siflewrs GinHbse.
A real gas obeying the van der Waals equation will closely resemblé an ideal gas
if :
A) \-'/The parameters a & b are small
B) ais lérge. but b is small
C) aissmall, but b is large
D) both a and b are large.
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12, searegiy, @elUaby HaTsgy, @bl 'saregl LG s Seonlilar oeitlarm eslgib
2 _efrerm g{@g&éaﬂs& Gre:ts'mmsﬂ%sm&, wpen@u |
A VrAare Bl 1.2 4

C) 8,14, 9 ‘ 5 -84, 2.

The numer of atoms per unit cell in a sirhple‘ cube, face-centred cube and body- -

cexii7d cube are respectively

A) 1,4.2 B) 1,2, 4
C) 8.14.9 ‘ D) 8.4, 2.

13. g6 ol vanLe wsssHe oo aryala syrefl Corgen G ggmmd A Gle.s
WHNID @ apevdbonn @ elomgilen Curgb epesennseaflsr e aNsme z aafl,
2ige1 ggmafl Geusid

18

A) ‘—‘,cms_'l ' ! B) i\z’cms'l
z ,
1 A \ . T

Q) ——— cmS8 D) Z cms L
'\/ﬁ z‘r . .JZ’

The mean free path of a gas at 1 atm is A cm and the no. of collision made by

one molecule per secohd is z' . The average speed of the molecules will be

A) —l,— cms™! | @/}uzl cms™!
z
C“){ v s D) R
14, A+B——C+D+q aamp ailoeadea aan Crrdl wrppd Cris@dld_rebn. @bs
aflement
A} ofls QautiuBlenedien Blaapn
B  @onhs Gariufameld vl GGw Bla
C)  ebe Qaiuflereuled Ble g

D) aps Qeutudleendiend Hleapb.
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- A reaction, A+B——C+D+q is found to have a positive entropy change. The

reaction will be

A) | possible at high temperature B} . possible only at low temperature

Cl/not possible at any temperature D) poésible at any temperature.
15. fec augen gpeowiilld giparavdigieien Lgssead Sewliller o aéams

A) 6 B) 8

C) 12 | D) 14

In a face-centered cubic lattice the no. of nearest neighbours for a given lattice

point is
A) V6 B) 8
C) 12 D) 14.

18. Beaugel Nera g adug @abe Crrgurs Q@r_riymLw seaoshéT@D
A)  Dergml) | L BBl (e
C) Qs D}  Swelurge.
The electrolytic conductahce is a direct measure of
A)  resistances potential
C) cpncentration 7 .‘ ' D) Alssociatlon

17. g6 Cafdeaie fpsscn. smaifsdd apoa alomearGaeaombl wrbyeg

@levemen ?
A) oleoarGeous wrhed B) Geudls swilaney wrgled
C)  eleverGeusid A D) ey Sybmev.

- A catalyst does not shift which of the followizlyarametcrs of the reaction ?

A) Rate constant B}Y Equilibrium constant
C) Rate B D)  Activation energy.
8804450

www.upscstudymaterials.com



www.upscstudymaterials.com

9 UDCH
18. @® @a&lemminnet erang (pH&HWen_WE LlELwTg ?
A) | Q-G &eN &l _ B) yGpmimed
C) rrf,]w'_grrs&r D) &nmiueT o La(b.
A cyclotron cannot accelerate
A) - a-parcticle B), proton
CL// neutron | D - carbon nucleus.
19. aréarafls Berasn updu sbpseflé a5 soumTar sabpn G ?
A)  Criferaurs ereiug Coillarpees
B) Gprflereumi ererug edlifidnparer
C) Oaelléapdiedr Crilldwaatiea @Qumps aHibdpaase sl medsel
Qe | | |
D) eadinBsreurde p@E&sd poQupdps. .
'Which of the following statements is wrong about Galvanic cells ?
A) Cathode ' is Lire ‘posiiive cicctmdor;
B) .~ Cathode is the negative electrode
C) " Electrons flow from anode to cathode in the external circuit

D) Reduction occurs at the cathode.
20. 6 ooada t) =69-3 alemges, alomarGas wrhed 1072 /eflearmy erefley
2
syualemandlds allemeing
A) 1 | | B) 0
c 3 D 2.

If a reaction with t; =69-3 second. has a rate constant value of 1072 per
2 .
second,-the order is

AL/I ' B) 0

C) 3 D 2.
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21.

66 ePuliL Qaviuhlaeille, Bdrampugiiis Gurg GeueMiil @b euryale
Bler ywsssdihEd, Harsasdhdpha samsdl_ou L ary GeellCup Ceusmgw
Bletr Sypsesdbedler Cu 2 eer Cougiuir® Gleeuryy e phbsliuHHDE.

A)  Gaefiu@ib Bersipssi B) samadliiul Her sipssb

C) Gengener Hlar yupHsid D) ofts Bt SwHsh.

At constant temperature, the difference between the voltages at which a gas is

actually evolved during electrolysis and the theoritical value at which it ought to
have been evolved in an electrolytic cell, is defined as

A) evolution voltage B)  theoretical voltage
C)  practical voltage D)/ ‘/overvoltage.
22. @ Qer@sésiulL dasdld g Blera el gerallamaunrs  BlepashHe,
DT HOSEIBT mS .ooiiiiniainnnns 2. el g 26 GBlg Sjeudlub.
A)  agditsen wdHiSe B) Guiseh wHiy
C) ysHw vy D) . @eubmei srg]cqlﬁlé‘umm. :
For a cell reaction to occur spontaneously in a given direction, the em/ of the cell
should be =
A) negative By | ﬁosltive
C) Zero D) none of these.
23.  gonbdaansdies Fi'l piss Hlarsssb E wpeopGu
Zn=2Zn%*+2¢7; E°= + 0-76V
Fe=Fe?*+2e™; E°=13 0-41V
Fe?* + Zn = Zn?* + Fe aeip se aflevanes iy
A) - 035 V : B) +0:35V
£ ATV D} -117V.
The standard reduction potentials, E° for the half cell reéctions are as
Zn=Zn?*+2¢~; E°= + 0-76V
Fe=Fe?*+2e™; E°=+0-41V
The emf for the cell reaction Fe** + Zn = Zn2:f+ Fe is
A) -035V B\ + 035V
C) + 117V T —ll'17V.
6804450

www.upscstudymaterials.com



www.upscstudymaterials.com
11 UDCH

24. @ aiemmulﬂé)‘ @-emg)gbs Siene) emppret OerdnL. ok @erfloewsd Gefb
Gonhs Qeplalle - aramiufuraimd @ 2 BUTGDh alaearGasb weplb allene
Geusm sl swwrs GBUUSTSE BHSULEGSIDS. Ghss SoHgeud

»

A)  fleowds Haves alamer B)  pefalenar Gausb
C) of arledur segeud . D) sisasailud Qarerens.

When the short lived reaction intermediate exists at low concentrétion in a
_ system, the rate of formation of intermediate can be considered to be equal to

its rate of disappearance. The principle is known as
A), /Steady-state reaction B)  Absolute reaction rate
C) Le Chatelier's principle D)  Arrhenius theory.

25. Qsfe Aaraasde Cprdlar amdpeb, afit Baauriped G CGu 2 der Gy
Gm@uﬁ'@

A Beruesfifer Qedoy
B) LlLIJGéTlJ‘@i-ﬁB'.'J'JL.'J_'@@C&@ﬂﬁ Qur@metdr cums
C) ' uwerL@SsILCL BDerLgel et eusma
D)  Bepemens @un@aﬂdﬂ Qeey.
In a concentration cell, the only difference between the anode and cathode is
A) L/zdrlcentration of the electrolyte
B) type of electrode material used
C) type of electrolyte used:
D) concentration of the electrode material.
26. G® sroenals bdasagos ehluli@aads Saaimnd sbpeaper ag & 2
Ah  enQuTgd Cribleteuri wseller eBLiLiu@&ng
B) auQurapgid sdifereumi apgeier @Ruli iu@dps
C)  Gprderami ugddle o arer Blamuged (pgelié A LA

D) adliflemeurley 2_erer Blestu@eil apgeier @pliLiu@dng.

6804450 i [ Turn over
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Whichyof the following statements is correct while rcprescnting a galvanic ceil ?
Ah/ Anode is always represented first

B) Cathode is always represented first

C} Electrolyte in anodic compartment is represented first _

D)  Electrolyte in cathodic compartment is representéd first.

27. 2Fe® +2n——7Zn%* + 2Fe?* eramp HerGeoudl  aleaveoniles Fe?*err  Qadlaneu
odlaflegh Curag

A)  segdla emf g sglsfsdng

B) Neargr L g sememeu siflafladng

C) esapdd emf p GopsEDg

D) segeclet pH wdlieou wrHpdlpg:

In the electrochemical reaétlm

2Fe3* +Zn——>Zn?* + 2Fe?*

increasing the concentration of Fe2*

A) | increases the cell emi | B~ [ mereases thecurrent flow
aL k decreases the cell emf . D} alters the pH of the seolution.

28. WNensab gefie 001 M ofllgs sflesgeér Hfigerey 001 M NaOH
Garéaliul L, seyseder Blergean

A) | Lw@fo
B) @epub
C) LOTDIT &

D) o wmeuGaT Sicveg @anggsu@g,rrlaqé\l'_qé sflegdlear CQedleea QUIDIGSS.

~ To 0-01 M solution of acetic acid taken in a cell small amount of 0-01 M NaOH is
added. ;hc resistance of the solution will

A) Jiil-crcase
B) decrease
C) remain unchanged

D) ~ decrease (or) Increase depending upon the coricentration of CH3;COOH
taken.

6804450
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29. A. Buwbpb C ety ppaiy 2 Caranseiler dhiL Bidraiwpsen wpeon@u 05 V, -3 V
wHno - 1-2 V aaflée §ihs 2 Carataeflar @onsen dpss 2

A) C>B>A B) A>C»>B
C) B>C>A D) A>B>(C.

Standard electrode potential of threec metals A, B and. C are respectively, 0-5 V,

-3 Vand - 1:2 V. The reducing power of these metals are

A) C>B>A B)Y A>C>B
‘_,-"’A ) ’ ~ .

G " B>C>A - . : D) A>B>C.

30. om Gaf Vdraansdds, Curss dedrsme Beudefewesr Ni*2 +Co——>N1+Co+2_
24@&b. @&les E'NyNi*? = 0-25V whmib E°Co?*fco = = 0277 V eradilés E'fearaei L

A)  -0-027V B} 0027V
C) - 0527V : D) 0-527 V.
In an alentrachemion cell, the cormniced cell reaction is

Ni*? + Co———Ni+Co*?. Given that E'ny/Ni*? is 025V and E’'co?*/co s

— 0277 V., the value of E’cell is 1
Al -0027V BL/()-027 %
C) ~0527V | D) 0527V,

31. 25°C @é 0-001 M Qedleysier cuallann Geaonhs Sblegder Ufles Qgﬁlb&l.glﬂéi‘ 0:2
2@, aarCeal eusdlaw Gophs Sflasdar Uiflas algb
A)  5x107° Gumre/edii B) 1x107° Guré/edioi
C)  5x10° Guoré/ed i D)  1x10° Guré/edi.

At 25°C ,a 0001 M weak acid has the degree of dissociation as 0-2 in water.The

dissociation constant of the weak acid is

/

4)/ 5x107 moles/litre | B) 1x107° moles / litre
C) 5x10° moles/litre D) 1x10° moles/litre.

6804450 , - | Turn over
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32.

B lem aloaniles 001864 amu e @gguql_ee‘r @&@aﬂ@@g@ﬂe\) 2bs
aflenerdles QeuefCGuihpuuBid ybmes ( MeV 6 )

A) 9311 4 B) 4655
C) 186-2 D) 17-34.

A nuclear reaction is accompanied by loss of mass equivalent to 0-01864 amu.
The energy liberated (in MeV) is

A)  931-1 . B) 4655
C} 1862 . : 1.7-34.
33. Hlepdlycoree edug UILE srEmlLRSISED e &@Lb o _&fen
aUEHTLL D 4@LD.
A)  fHlep / Heraap aldlab
B) oem/ Haaaw ollflsb
C) wassan Hlep / Bearsan aldlsb
D) sgblan / bleieenn eﬁ]éjg,Lb.
A mass spectrum is a plot of relative abundance against the
LM:/J ratio of mass/charge
B) ratio of atom/charge
C) ratio of moluecular weight/charge
D)  ratio of atomlc'weight/ charge.
34.  siesdaiy Hppycnredé, &psaradmuaibble g apenTal LuLRSDE ?
A) Gemgu gall alerég
B) OQuwiéef alleréeg
C)  ©IpfrebrenL @mﬂfrmrrﬁ
D) . . Qeudiu Bletr @UL@L.
Which one of the following is used as source for IR-spectrophotometer ?
A) Sodium va'pour lamp B)  Mercury lamp
JZ&L : Nernst glower D) Thermocouple.
6804450
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35. sdlisear ImaBenis el e @mpmé.lu QUINISE PNSeNGET FHNIBH G
(PRHEMIHET BRI GOTBE) v.o.ovorecrerirnes e SIDEmP&eHLILGHDE.
A}  prGe Slméy B) il flgpé
C) geLTe alleveney D) ngmoen fgme.
Scattering of molecules or aggregates of molecules with dimensions smaller than
the wavelength of radiation is called
U’(O g Rayleigh scattering B)  Mie scattering
C) Tyndall effect D) Raman scattering.
36. £p&&ML (B&rrmrms,efﬂs\) apsé Qamwb 'H-NMR @Ummrrsmeuufﬂeo 967 @ Giui_en
LDL@LD ST&H FalQ s
A)  CHy-CH, -Br B} CHj- CH- CHg
. Br
C) Br-CH,-CH,-Br D)  Br-CH, - CH, - CH,Br.
Which of the following compounds will give only one signal in the TH-NMR
spectrum ? ‘
A)  CHY\L\CHp/- Br . =) c:HJ,-c,H- oK
£ T
¢ ,/Br-CH,-CH, -Br D) Br- CH2 - CH, - CHyBr.
37. CH3Cl qpovsgaillen Spesciil aqbhs aeblpraT brpge her Gunmegl 7
A) o-—o0o B) n-—o
C) =m-—>n ' D) n-nx.
In the molecule CH3CI, which among the given electronic transitions. will not
occur ? |
A g-—d B) n—o
Lﬁ% - ' D} n-—x,
38. IHNMR’[Q‘ULDI'I'@G\)US]G'\) LriuGenrér QuTk@E@hée GLDULED @PSL @ eresor
A) 2 B) 3
Cy 4 - Dy 5.
6804450 | _ | [ Turn over
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39.

40.

41.

o

The number of signals obtained for propanaldc]}yde in '"HNMR spectrum is

A) two W three

C) four D) five.

QLrggellesr 'HNMR flpwreais asgoer @hl@sst o @ardlamner 2
A) 2 B B) 3

C) 1 D) 4.

The number of signals obtained for toluene in THNMR spectrum is -

Axfxz B 3

C) 1 D) 4.

wrr'rueo:ccré G\‘gn@@uﬁlé\) B .g{.s_ﬂri'@mso?m

A) 1790 Qe ™! — 1650 Qe 8™ 46 GeoLiey

B) .2000@& 71— 2500 Ge 57! 5@ @eo e

C) 2700 @& 1§~ — 2100 Qe .57! s @GD’)I_LISIG;\)

D) 2900 Qs 2300 Qs il ! b e ule.

The ?ohyl stretching frequency is '

A" between 1790 cm ! and 1_650 cm“l,

B)' between 2000 cm ™! and 2500 cm !
C)  between 2700 cm ™' and 2100 cm ™!

D) between 2900 cm ! and 2800 cm .

e ereost () ershe Fwb ?

A & By A2
C) % D) VA,

Wave number ( y—) is equal to

B} A

D) .

A) P

?‘ll—- b

6804450
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42. rGlmch(ergj SR et ebr @@m&mm'@msﬂﬂu@&,g}m BlanmioTeme
A) e, e, it ( EWSHHEH HTHS BDBTEH )
B) . 9. S&sleuliy @g}wrrmé
C) uv qg)ﬁng,rr Hmwor ene |
D) el Bpworene.
Spectroscopy _that represents different spinning levels is
AY NMR | | B) IR
¢ uwv S D) Mass.

- 43.  gefl ZJyergd arppiyesdDe 2 lu@ssiu@d Curg: dflmasuaLyd Bowreneses

Blapalibg Cuwrt |
A)  smblLen alemeney B) gf@ma‘ﬁ aSlemeney
C} Q& elaeney D) evLmié edeverey.
The splitting of spectral lines, when .the source is placed in a magnetic field is
‘known is - '
A) Compton effect . B} “Zeeman effect
C) Kerr effect : D) Stark effect.

44. &g BT Faby ? |
A)  @ooy giudlysscde, Fe oisswadpg
B) apreoe@sdlda héesdpar afloms I" <Br <CI’
C) Gemgquid gesswemanile Carqusdlar o oedlmGanbn erawn |y gedub cg_{,@m
D) fluw oan g Aergpaeaide, seorsala pH wdoy Lhsud Sieib.
Whlch__t/incorrect statement ?
A)L//In the rusting of lron..Fe is reduced
B) Réducing power of halides is I” < Br™ <Cl~

\ C)  Oxidation number of sodium in sodium amalgam is zero
D) In SHE, pH of the solution is zero.

6804450 [ Turn over
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45.

dpahaasicublé gaunran apdleeard CarhOs®

A) @e&w@ Shng 2sNG QPULL &THs 2 L smssoad et Gamomser
NMR glyéinrenesenwd smlestme

B) NMR fiysnrereenw yshedlu 2 | s siphd) Geuresoi b Sl 2 1 smeHael

Garpoyalsdlesmen
) 120 wdliyoLw 2 L smeeet NMR blyéwraewaus skdleamear

D) NMR 2 flgrase, 2ia6m afi apbdl argaoors ghuGeing.

Choose the wrong statement among the following -

A) Compound with one or more magnetic nuclei gives NMR spectrum

o

\ﬁaj/"NMR spectrumm can be recorded for a nuclei with zero nuclear spin

i .
quantum number

C)  Nuclei with I = 0 gives NMR spectrum

D) NMR absorptions are QUe te nuclear spin inversion.
46. Bt ougauodD cpabanbdle fliey slger alsb ( vibrational degree of freedom )
g 7
A) 3n-6 . B) 3n-5
C) 3n-3 | , D) 3n-1l
How m, 'y vibrational degrees of freedom are there for non-linear molecules ?
Al/(:ln- 6 B) 3n-56
C) 3n-3 D) 3n-1
47. 1-41 T Aerarpsiyeddeyeier 4Gyr L raflér 'HNMR sifliralaer scansd@s :
(gN for 'H = 5-585, By =5-05x10727J17")
A)  B5x10° Hz | B) %-5x.107Hz
cj ' 1-56x1.0'2 Hz ‘ D) 6x107Hz.
6804450
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The NMR frequency  of 'H in a magnetic: field of intensity 141 T is
(gN for 'H = 5585, By =5-05x10727g17})
A 5x10° iz B) 7:5x10"Hz
C)  1-56x1072 Hz, ' DV 6x107Hz.
Seédeuty IR wppd gmoen  Blydwraessst  Carhpelss anmmnm
wseTawLTe GlFudpapaer (penbul ' '
Al 2fgssd
B} Slapysaé
C) 2 Migmsc vpnid Hpgsed
D) $lengsss wbpud 2 Oehead.

The prhnary process(es) involved in recording IR and Raman spectra respectively

is/are
A)  absorption
B) scattering
/"‘
C)~ absorption and scattering
D) scattering and absorption. ; :

Eietoiemiene  Blpdoremes  whpid | eéflaniy  dydwroe  dluencuser

Spssaso_aupdie g Sroraiss’ LusTUREDS ?

A)  Sevamiiy derhis el

B) Yevesiiy suedleninsef - |

C)  Sevemiy aelernd bhp Sememiiiy Hemio @m{VDV(BgJ

D) Uevawiiy Bend whpib Nenssoriny cuedlens (peapGu.

Microwave spectra and IR spectra are useful for the determination of
A) bond lengths l

B)  bond strengths

C}  bond strength énd bond length respectively

D) L/bond length and bénd stréngth respectively.

6804450 [ Turn over -
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50. e apdlé ssfleér 'H NMR @r‘prﬂgq’ownémﬂ@ HITGOTUG
A)  preng Gulel edi@ser -
B) préng weaip GHlu@sst
C)  @ureand ‘wein efiGaa wbob Gren® . préie GHEHss
D) g6 woin GBS LD GE BT SpSPsst.
The 'H NMR spectrum of diethyl ether shows |
A)  four doublets
B) four triplets
C ‘two triplets and two.quartets
ﬂ‘,{{]v’one triplet-and are quartet.
51. JQneaflus Guésb wuryreé seor_Pulu’Lg) ?
Al @urudl OQgered ‘ B) féuneing
C) ey eEdwsy T). Siesab.
Br0wn}an movement was discovered by
Ay Robert Brown B) Zsigmﬁndy
. C) ' ' Hardy-Schulze . D} Graham.
52. e© HLlGur st Hyeusdé olral @ BHaTe: Sbss amposden Qi
A sefl B) duQurmet
Ci SHONUTS SO ‘ - D) | SHEOTEN,

If a solid is-dispersed is a _llquid. ‘the colloid is called

A)  Gel ‘ -B)  Selid
C) Bdaptable DL /;ol.
53. ypwrihHS G piobd eTesTLIG) \
A)  Qgrise B)  seglure sl ol
C)  seylures el sagpinh D) Bt seui safpio.
' 6804450
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What is the other name for extrinsic colloids ?

A} Suspensions B)  Lyophilic colloids

[9/_ Lyophobic cc;llolds D)  Hydrophilic colloids.
54. Lrewayes eretm Qunmel |
A)  uTGLEHES un gier &g
B) siob siwgde afljeu 2 gal Qeldpg
C)  urdwiens Hflu Qeidng
D) uTLEMS GTLOLLTHSHDE.
| Emulsifier is a substance which
; stabilises the emulsion
B) helps the dispersion of liquid in liquid
C) coagulates the emulsion
D)  purifies the emulsion.
55. = spsaaaLauplle ag CrilarGarpn Gn;EpLD SO0 2 (HUTHGEDG ?
A) - gR&bD B)  syiréleflun saheu®
C)  euLmié _ D) Quifls eanl préamen.
Which of the following substances gives a positively charged sol ?
A)ﬁ Gold B}  Arsenium sulphide
C) | Starch | D)~ fﬂFerric hydroxide.
56. B@yHmid Gubhp LTeod sTebeuT Q) afjpug eurdaliL@leipen 2
A) J{ﬂ&: e heogs Gl gl |
B) feor B&d
C) 988 Sema sopuhsugu 2 Oysamers Carsg
D) G\mﬂuuu@&,ﬂ.
6804450 | . [ Turm over
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How an emulsoid can be preéipitated ?
A) By adding large quantities of watef
Bj By removing water
U:‘é"/By adding large quantities of soluble salts
D) By heating.
57. 1936 ob gy Caudugsstar Crrudew ufler Sior Gg. Liflefy. e e
2flaluds flehmée absl Lgllipars euphsluCL g ?
A)  Qurngdlaip gisearseiler @Quas g bDE
B) «&&8am Qan&Gaealar aus emoly
C)  Qepos Heoy Spe
D) Quest et Zjeliy.

: In 1936, Nobel prize in Chem:stry was awarded to Peter J.W. Debye for his

studies of
A) kinetic' energy of colliding particle
B) v conformation of cyclohexane

\9{ 'v/ dipole moments
D)  benzene structure.

58. rdleewry QuEwegigesr QaBla] ... arebIp Hleveu et Q@M TLemL Wwg.

A)  Gepaure Qeulublenes
B) . @eoomeursr Qepdleyblane
c) @opeuTe Qaley WHpID Qeutiublemen
D)  (@DeUTen péedisnl) ST . '
Cri'tical‘ micelle concentration (CMC) is associated with only above ce;'tain
A) inimum temperature

uaO/::mimum concentration
C)  both minimum temperature and -concentration

D) minimum molecular weight.

6804450
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59. Beny griewblUBSS um@ugng‘@&mé@@@mmg CaiEoe®
A) NenrCanimag ssugy® LUTeysH6 B)  aapui Lliflty
C) @uleoL 2 0y UweiuGHSESe D)  uglys seurédl.
The process which is not involved in the purif?&on of water, is
A) Reverse osmosis Bi_~ Dialysis
.C) Alum treatment oy 4 D) Adsorption.
60. &emyLIumes adli gmpy Uflosou Hilué Qeaiyd Gurgy o LyssTaT el
@sueurp) wrpdlpg 7 :
A)  efpugey ‘ B) Qg efleume
C) & QRIS D) gﬁmrrsm.

When a lyophobic colioid dispersion is coagulated, the homegeneous system

turns
A)  precipitate B) clear

f .
C)w//iurbid DN T mowasiwn

6l. 2 peurge suhome OaTEHaDiie 2802(9) +02(g) == 280,

() +42keal 6@

2_efrengl. SOgiq) 2 GUNGSSH THeITE Sdlalupdlog 7
B o6 Swbsb wLED |

B) Gonhs Gleulublene U HD

O eopbs Couiufles whpib SiFs Sibed

D] ©oDbhd AWSHD, gﬂﬂ&. Qleutiufleney.

‘The formation equilibrium in the contact process is

—
250 + 0, = .‘ZSO3

2(g) ) 42 kecal. The formatiog of 503y is favoured by

(9)
A)  high pressure only
B) 7low temperature only

19)’;/low temperature and high pressure

D)  low pressure and high temperafure.

6804450 [ Turn over
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62.

CO,, NOé. S0, tpevssapiameiles L @umapaner FpiLsHpsn OBTL. Apedann)
A SO, B) CO,
C) NO, ‘ D) @ebnst ogeopdceme.

Among the molecules CO,, NOy, SO, the m /ecule with zero dlpole moment 1s

A SO, - \ BV CO,
c NO, ' | D)  None of these.
63. Fe* swalsen @Ugggmg Hfwé GQeldlamer. aanBeu Seveumeusreupdies erg
Busssdle smpopgesiseies BaGabpsos GHGED 7
A) admfleétsenw B) Gprllersans
C) Her@erppid 2bma 7 D) edit ydeg Crpiberses.
Fe® 1ons coagulate blood. This shows blood contains colloidial particie bearing
A]\-'//negatwe charge ' B} positive charge
C) no charge D} _either positive or negative charge.
64, UM ereBTLG |
~A)  Qaruiy pfle aflyeiug , B) i GM@L}LSIQ'J allyafug
C) ﬁrr ercBor Qleoridley eﬁlugﬁmgj ' D) Qaryuy Qargode elraiug.
Mik is | |
' [/A’]/ v ';;rotem dispersed in water B) water dispersed in fat .
C)  water dlsperéed in.oil | D) fat dispersed in fat.
65. &peami arsdunsenet ag e 7 |
A) seoqiurer GQeupseh sngpma&r&,e;’r BMerugeous Geregd Gurg eefdle
eSlpLig e & g '
B) é;_emguurrs&r Qeupit@d snpuhiser Beigaiann 2 e wgl
C) & O LILIT 65T amir'r Gow [PLOMI S 61T Sﬂ"fgs&r@lﬂ 2L g
D)  &@uuTet Sait sapuliser Hetampu@ssard Eiflgeandleme.
6804450
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Which of the following statements is correct.?
A) Lyophobic colloids do not ea‘sﬂy- coagulte on adding electrolytes
B) Lyophobic colloids are reversible in character
\}2}5:':!; Lyophilic colloids are reversible in character
D) = Lyophilic colloids are easlly.coagﬂa'ted by-electrolysis.

66. anppudgimeiles Hleraemwenus Cempanen qpold ey LweT HID (WD

A) fepoassarsd B) Betemp anporndfiny
C) . sustmesmiiiflens ‘@eon D) [t eug sl Hige. |

~ Thec é{rgc on a colloid can be experimentally détermined by
LAﬂ\//I;lcctrophoresis B) Electrodialys-is
C) Chromatography ' D) Ultrafiltration.

67. -SpssaoiLeipiie uTdind sraflous CatbOs@ :
A)  Ofseir sefl -
B} é.g‘bg,aséss,emq&eb
C)  weooi waulelisH Qe Cuir iy, spfismizaedr G urccrdlod 2ty
D) Gamgub S CLL.
Which is the emulsifying agent. among the foilowing ?
A)  Silica gel |
B}  Sulphur sol
' CL_// lgotassium saltr of long chain fatty acids
D)  Sodium acetate.
68. &psaaocupbe sflurer spheea Caipols® .:.
A)  yrssdar deépenans a;sur'réeﬂ paTa) eg so Bayeralldes Geomeurs -
BBEED : :
B) &y pH & yyad edifer paearCrrédl pamb
C) Sybfle pH & yyan Criber apenarCrradl pamb
D) G\&guégﬂlul;L_ Beryapdles, urssder Nepeers saréd psite, pH g
ST h& S ,@]éasu. .
6804450 il [ Turn over
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Which of the following statements is correct'?

A ‘
W “The electrophoretic movement of protein will be minimum at the isoelectric
point

B) At basic pH protein will move towards cathode
C) At acidic pH protein will move towards anode

D)} Movement of protein in an applied field is independent of pH.

69. HCI epevdsnilett Gargenest cpaid seooiBlibs Glhpenend SHmpliusdlmes 1-03D wbHmb
QG BEHHLLULL GBuoad Spiysdpadr 515D el H—Cl SleneosiiiSles
s5alp Sl LTy ereTe 7
A) 50% B) 5%

C) 20% , D) 2%.

Observed dipole moment of HCI is 1-03D and the calculated dipole moment is
5-15D. What is the % lonic character of H—CI bond ?

A 50% B 5%

C{/EO% | Dl 2%

70.  deteu@d Guibry uylyseurs s sbopswore sbdle ag sfifldoerss 2
A safpseranupps
B) gbhob wpedbsap HHSTeTer g
C) @%mgo;bg_r, ugUy seutéfl QeuliuaperL wg
D) e gesTenbiem_WF.

Which of the following statements is not correct regarding physical adsorption ?
A) . It is not specific ] \Vt/n/forms monomolecular layer
C) It has low heat of-adsorption D) It is reversible.

71. FesO4 @é smbss - Hoiy Hperse @eemurseayd adli @enerriiret Hens sefl
sudleoanr aanafsmeadld  SewssiulLred 2 Geargd Blar - SHmiysdlper
Fe 04 6@ eréueurm Q&G ? -

A)  Quif srhs e B)  GuiGyr srhe Heten
e UM &b Sesiemio D) eoLwT &THh SeTenD.
6804450
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In Fe;0,4. the magnetic moments are aligned in parallel and antiparallel

directions in unequal numbers resulting in a net moment. Fe,0, is found to be

A .Fel:rir_'nagnetic B) Ferromagnetic
C) - Paramagnetic ; - D) Diamagnetic.
, . . s , .+ bP , 1 L
72. emapdi urly sadddl soetuT@ x=K T3P X eeTLg ujuys SeuruurL.
+

auryellet  yemey. P aeug é{@&,gm K' oppd b edusses  wrdledse.

Spssccor_emeukheils aenum@heh@ GeLGu eueuiulL eeyuLd Cpiéam g

BHEHO
' P
A) X vs P B) —vus P
: X
1 1 . 1 .
C) — vs — D). —usP.
X P . x
_ : , bP C '
Langmuir adsorption equation is x=K FT where x is the amount of gas
+ J 9

adsorbed. P is the pressure and k' and b are constant. Which of the following

graphical plots will be linear ? _ P
7
P -
A) x vs P _Bf —wusP
N k x
1 1 1
C) — s — D) — vs P.
X P - X .

73. Spsaco ahg swel Blle Sfls SeTa) HoTLGGLL DD TTHEEDLH SEHD 7
A K* | B) AP
c)  Ni%Y D) Cu®*,
Which of the following ions will form most water soluble hydroxide ?
}v/" K* | B) A%
) N2 B) Ccu*,

74. Sasgonbs Hloaiysgaan Qaran N ey

A)  evaplysatileneaiiy B} rgé salllenamriy
C) eaulleewiiy D)  swelufeemniy.
6804450 | ' [ Turn over '
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The weakest among bonding is |
¥ i
F 4
A)/ Hydrogen bond B)  Coordinate bond
C) Covalent bond D} lonic bond.

- 75, dpsecm. suailsdfle ag Bfle ofls eera soqyd @angréoeve g

- ao&ing |
o .
m}& K* B) Zn®*

C) y A13+ D) C32+'.

Which of the fbllowing ions forms highly soluble hydroxide in water ? -
W/ ®* - B) Zn?* |

B AP ) D) Ca?.

76. oL GurGrefler sl #péscdoraubpel erger Sewlienun Guirdy G)h@b 2

A) 55Cgei B) wé@gf;&t
C) yGpmiGuesr | D) | LS}QL;@;@T.
The structure of Diborane resembles the structure of
A)  Methane A BL” Ethane
C) Propane D) Butane.

77. afkpé;&.c&m_sugb@sﬁ g 2Ple TasLITSISE GeTenn OHTToL gl ?

A’ 2| &erdlgpett B) séur

C) QLgmflub D) SleSeNwb.
Whlch)g\f the following is the most electronegative ?
An/'/o:cygen B)  Sulphur
C)  Tellurium ' D)  Selenium.

78. Li*! Smpe Cs*! eusny BCrHpId afsid

A)  wrpmss @weSng B) odsfsdng
C) ©ondng D)  @eubpiet o greplldoene..
6804450
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From Li*! to Cs*! the degree of hydration

UDCH

A) , remains same B) increases
e/ f/decreases D) none of these.

79. wp0eredllayeren geflohiser whs @ement allemertanus QuprieTenes 2
A) s Qrgdl : B) pQargd
C) dOQsred o D) SfQared.
Inter-pair effect is shown by elements of

"A) s block ! BL~ p block
QO d block ~ D) fblock

SO. Yy sadigailes  @\enamHnett 2. geme seufldr Gevemdlpeaet 2. 4, 6 %as
2_eiiemest. OVetenTéy . "
A) S gsellpaean ol GoDHS TeELITeET Haur gatenn Claren_g O
B) S g&aligeear all 2 @meuere) Sidled O
C) S & spusfumgsd sinna-Cy ol pdlat
D) Seé d il résst 2 efener.
Oxygen is divalent but sulphur shows a valency of .2. .4 and 6 because
A) S is less electronegative than O |
B) S is bigger than O
C) LP.of Sis more than that of O,

P ) presence of d orbitals in S.
81. &psacoisupper 6Tg Hen el Qlemeoo ReTerg ?
“A)  NHY B) SCl,
Cc) BF%* ‘ 'D)  XeFy.
Which of the following has planar structure 7
A) NHY : B) SCl
Cc)  BF* ' l/D:T/I/XeF}l.
| Turn over
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82. yepefesr ol s Genaordnan
A) 3 B) 4
C} 6 ' Dy 7.

The highest valency of halogen with respect to fluorine is

A 3 B) 4
C) 6 D)’ 7. :
} >
83. GunGpm Camrelles oemwLI :
_CH, _NH
BH BH . CH, - CH,
A) | B)
HN NH
CH, CH, ~ ~
™~ BH CH,
¥ NH Lo
HB BH

'HN NH = {
\BH/ \/

The structure of Borazole is

NH
/}}5\ e \CH
BH BH : CH, | 2
A) | B) | |
CH CH AN ,/NH
~
2\ BH o % ’ . CH2
o NH
~HB BH
o al i PR D)
HN NH “
P BH/

84. DALl Spairh abg salod Gos aifuwre alwarfldns 2

A)  gedleflub , B)  QurLréub |
C) Cwmgedn ' D) g&spTHb.
6804450 .
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Which element will react violently with water at room temperature ?

“A)

C)

Aluminium B)" f Potassium

Idoine . D) Zinc.

85. CHRCOOCH e @)eneor &b

A)

Q)

- " @
CH3COO _ B  CHyCOOH,S

CHyCH,COOH | " D) CH,CH,COOH,®.

What is the conjugate base of CH;COOH ?

AV CHZCOO" B) CH,COOH,®

C)

CHzCH,COOH D) CH,CH,COOH,®.

86. eauslgren BriL dengl QuUIGseue & phaeear eubpiel ag &fluden 7

A)

B)

C)

D)

sTeeTg gellohgaller (pger eradlyreat priLb Cpit @Hl@ Glametor g
adans,  saflohseian  @raim rous ., aaslgrer. mriLb adi  @OdE
Ola e gy

mnu@mwuﬂga?m on slngdlar oem @f aeslgros gped Gurg
CeuefGumin g hpGev eTevdimmest BILLD erentUUGEDS)
Tl yTel BTLL Sdler wdly g STid Lij)@:}L'D‘ Clouelésnl B eTeudiymed

Sy @eubenpls CUTSSE!.

Which of the following statements regarding electron affinity is not correct ?

AL,..---The first electron affinities of all elements are positive

B)

C)

D}

6804450

The second electron affinities of all electron are negative

It is the energy released when a neutral or gaseous atom of an element

takes up an electron

Its magnitude depends upon the atomic radius and outer electronic

configuration of the elements.
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87.

88. -

89.

g8y Qampéaiu Geren ool Lrelles, wpaedes Blptiutiu@n Sy millcré g ?
A) 3s : B) 3p

P
cy\zp D) 4s.

Among the following orbitals, which will be f{illed first ?

A) 8s | B} 3p

¥
2p ; . D) 4s.

SHedlgest, oplrgoeail. s Suellutégd wbpa vy  QuDDikEs
Geusvong i Curdlepid, enpbLTmest gy sl el e Swealurden o bne w iy
CuphblmeEe GNTyemolD ereden 7

A)  oBLiRe 2 Geuere ysedigals 2 G el Sifan

rd

B) eplyme undl flyodiu deewrs semwieu QDB HLILGTE:

C) GD‘)'II)I'_I)'Q:GU)GDT, ol gy sedlgper Difle sl yrer seul gaTein UDHIHILIBTE

D) eoplygaile 7 aeslgrar wlHb 2 eerg), yeommed ysadlmalic 8 sl e
2 _effang,y.

The reason for higher lonisation energy for nitrogen than for oxygen, even

th'ough‘ dkygen is expected to have higher value is

A)  the size of nitrogen is larger than oxygen

B) v/r;itrogen has half-filled stable configuration

C) = oxygen is more electronegativé than nitrogen

D)  there are only seven electrons in nitrogen, but eight electrons in oxygen.
wp&Carent @b Ub@ cugeaid QareiiL apeuthonns

A) PClg B)  SFg

C) © CH, | D) BFS .

The molecule which has trigonal bipyramidal geometry is

/
A/ PClg B) SF,

'C) CH, D) BF;.

6804450
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90. &psscoi @g@.sﬁm&aﬂs’u. abs @een GGy Carodows snibes 7
A)  Siwppid As B) Swppb Se
C) Snuwbmod Sb D)  Alwpyb Pb.
Which of the following pairs of elements are the members of the same group ?
A) SiandAs By Sandse
C) SnandSb . D) Aland Pb.
91. &pssreoueupie prl sbeb ag aaé samde
A NHy g B)  PH,
C) BF, P CH,.
The Lewis ac%d from the following is
A) NHg ‘ B}  PHj
C)BF, | D) CH,.
92. spid> @sﬂe’r:ﬁw]u Gmw';r"::m Rutwnsmng Catnsd -
A)  XeF B) '[Ni (NH3)4] cl,
o [cumHy),]so, D) [cr (NH),Cl, | Br.
The compound wh;ch has spsd3 hybr#disation is
A) XeFg | B)  [Ni(NHy), |1,
©  [cuNH,),]sO, D) [cr (NHy),Cl, ] Br.
93. &phecoil ae&L)Te WIpphseila a5 Gonbhs hpaes Qe [ e eeg 7
A) | n-o : | B) n-n
C} o-0o ' D} =wn-x".
Which among the following electronic transitions will have.the lowest energy ?
A) n-o ' By  n-n"
C) o-o . | . D) n-nt
6804450 - ‘ [ Turn over
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94. Vereumeusoicupmueir a1 TrHeL e hdlurs uwsTu@Gding
A)  dyeu oant yeget, Hlyeu oy sedlae
BY e eplygein, Hlyeu gyéelige
Q) &y oantyger, dlye eplgme
D) dlyeu 3y beliggedn, flyeu oyifeme.
Which of the following could act as propellant for rocket ?
A)_/ Liquid hydrogen, liquid oxygen - B)  Liquid nitrogen, liguid oxygen
) Liquid hydrogen, liquid nitrogen D)  Liquid oxygen, liquid argbh.
95. e wHly 3-ws 2-erer CQurgy m (1) sredip Bleveviliiey 2_efrem @eureoor_ib erciorgen .
A} 2.1,0 B) 3.2.1,0
¢ 2,1,0,-1,-2 Dy 3,2,1,0,-1,-2,-3.
When ! = 3, what are the possible values for the quantum.number m (I) ?
A) 2,1,0 B) 3,2,.1.0
: &
o 2..L0-1.-2+ ~D) 3,2,1,0.-1,-2.-3.
96. ©® 2L am ool {; wilious sambdl i LuSTLERD eurliuTH,
z ;
- 0-396 0-963
A) tl = B) tl = —
o k hd k
2 2
. 0-693 0-5
C) = D) f;=—01.
s : -k
2 2
The formula to calculate {; of a nuclear reaction is
2
0-396 0-963
A t; = B ty =
b k bR k
s 2
0-693 0:5
C) tl - D) tl =,
e k =
2 2
6804450
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sy Poalca aaslgrd vl 5 oynliirdse Spsedu gl
sefotiseiler Blrodl 2 eferg

A oysgefub, Garflub B) = CrrOudeiud vl @i

C)  CGprbludedwbd whmud errerafud D)  eryeradubd wl Gib.

In the electronic configuration of actinides 5f orbital is full for the elements

A)' actinium & thorium B) nobelium only
C}\/"nobelium & lawrencium D) - lawrencium only.
s

Gflu S boese sryeowrer e I &b alaearser

A) o lam Seoemiy - B) 2l &m ety

C) q&rrcinsiu w Creiub Qg D) orpgaah QST
The nuclear reaction responsible for solar energy is

A) V/I‘f;clear fusion ' B)  Nuclear fission

C) Transuranivm seriss o Lanihanidelscries.

oTheoad) Gpsen Neaeuph G aoslyrd Brlygeard ghu@dng

A)  of gyl Lmdsen - B)  4f gyl mevaen
C) 6d %ﬁnﬁ]l}_l_rre'\)aaeﬁ : D) 5d gyl reuamel.
The 'Lanthanide contraction' phenomenon occurs___]:)y electron ﬁlﬁng up of
el
.A) " 5f orbitals B), 4f orbitals
C) -6d orbita.ls - D)  5d orbitals.

ST SSITHSN eraTLene

A)  Dssgonhs Siboé, Hs sifle sedand o aoiw Bldaanhs sHiee
B flaé&@eonhs é‘grj)rpéj. P gonbs Seanbend 2_amLw Naéisnhs sdise
c  ds odls %ﬁ)m&, He oifle @epennd 2 soLw Haarbs sdise

R) Ne fle b, Bis Gaonbs Semebenbd 2 e w Blaramhs. &Hisei.
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'Gamma rays are

A)  very low energy, very long wavelength electromagnetic radiation

B)  very low energy, very short wavelength electromagnetic radiation

C)  very high energy. very long wavelength ¢lecromagnetic radiation

/
{/I{i/;very high energy, very short wavelength electromagnéetic radiation.

101. yCreflugdlen e W&y aposiger cTee 7

AI) - Als Nenegor wpped sriCermeneul

B) CurGerresl whpm Cgmrenyi

C) Geudeea wpmpb CusaiaLL

D}  dlgrever whoubd smirCermenel..

The two mr;ljor sources of uranium are

A ;)ltch blende and carnotite

Bj monazite and therite

C}  gluminite and mangatite

D) granite and carnolite.
102. - ey 2 Cavrshsm el TebiLG) THET HOMEULTGSD 2

A}  erhgamerHiser

B} s enei(hisel

C) s auflene @ml_@@s\i&) geoTiomhie: e

D) @fjc&m_rﬁ.b aflos Ge e geatlivbiser.

Misch metals are alloys of -

Al‘-// ffl.antl'ranidcs

B) actinides

C) first row transition elements

D) second row transition elements.

6804450
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103. Guduq.mm&t.‘srs&rug; TG (WHFUSHTSH ?
A Cufub B)  Gerfud
C)  Fflwip D) éelsaner.
Bastnaesite is a chief ore of
A)  Barium B)  Thorium
CL/‘ Cerium D)  Silicon.
104. ggCo eTe5Tm @C‘S&rr(%urrutﬂetr ST S B HI
A) 12-3 prlser , _ B) 10 eurryiugeit
C) 20 Hlb_kser ‘ D) 527 gy cofeer:
The half-life of ggCo isotope is
“A) 12:3 dgys B) 10 weeks
C) 20 minutes | D%27 yeéu's.
105. f an@é] gafudibisenmey b_’l\ﬁﬂi.""lqﬂ Sysetin@ [QEmgmurs
A)  ungT &MhS SHETEDYEIL L6 .B) - @@Lﬂs&r&muq euemd -
C) OwiGyr Heeuems D) Guifl Her cuena.
The ‘oxi.des formed. by the f block elements are us_ually
A) vaéramagnetic ~ B} . Dielectrics
C) Ferroelectric ' D) - Ferrielectric.
106. Co%° THHE LweTuGEng 7 |
A) peerillé o elen YbmCHTLESL I HeneTs SetorL_Hlge
" B) @uss gULESS 26ien @epur® whpb QUésD 2.©DhE S
Qs srse
C) sdlfluses Hdlsans
D) Geuenmesor il
6804450 ‘ _ | [ Turn over
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The element Co60 is used in

A)

B)

location of tumour in the brain

location of blood clots and circulatory disorders

C)./e radiotherapy

D}

agricultural research.

107. dlereumenemeupnyei  ardsmyempdlarmes  HdGureflun  urevGul  eybGumesilub

opl CrienL ol fphs 2.morssd &HBULGEHDE 7

A)

B)

C)

D)

SipGurefius urevGul FRe soqub, gemd SpGorefun @HGr Bk
s enysudlersney
netoTou b )60 65T @MDWITEY (D LI () @sbeﬁ)eu

2B eshlwid urevGUL surfliug eeflg, eome HGoralud epl Gy

sunrfiiug sgeatb

SpGureilud  urevGuiger srarsdbes Cooeure eplysmer  WHHID

LIT GrULITY 670 &gi;,gj.a_uﬁsﬂgj.

The fertilizer ammonium phosphate is considered superior to ammonium

nitrate because

A)

B)

Q)

ammonium nitrate is insoluble whereas ammonium -phosphéte is water

soluble
there will be no change in the acidity of the soil

ammoniﬁm phosphate can be prepared easily while it is difficult to

prepare ammonium nitrate

P
D) it hHE'Iﬁ both N and P which are required by the plants. -

108. GurGaralusdles ooy S ared 140 priser @b 6@ Hgrb Po 75%

HengeuaL i e SHemet Gied SG&D 2

A)
C)

6804450

420 prseir B) 280 prisefr °

105 prisel ' - D) 35 mprisef.
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The half-life period of polonium is 140 days. If:one starts with 1g of Po,.75% of it

would have undergone disintegration in

A) 420 days B/ 280 days

C) 105 days D} - 35 days.
109. &péseoiL ehs 2 U@ Hlaeoubng) ? ‘

A mg ' B) gnge

cr Ba - D) '$Be.

Which of the following nuclides would you €xpect to be unstable ?

A %img ' B)  3oFe

o Ba " "'/I/QBE.
110. dlowpn @k erhgener () el daneu 7

A)  euCaanguid (I11) e s (1)

B) &b (IV) g]t;qﬁu‘lm (il

C)  &Quflub (I ) gqevyGrmdluid (111):

D)  &Cuflub (1) G Mdwb. (1)

The two Lanthanide ions which do not show colour are

A)‘/ Scandium (I1I) and Lutetium (II)

B} Ceriuﬁl‘(l\{) and Ytterbium (IIi

C) Samarium (Il ) and Dysprosium (IIJ)

D) Samarium (III) and Ytterbium | (III).

111. &paupauctapdlehs @6 Comy mGsrurntsomer Ggfla Cleds :

29 40 39 40 40
188577, [gAT T, 1 gKTT oK, gCa
A) oK, 4Catl . i B 10K, 1o
) gAr*¥, gArt0 D) oK%, jgAr*?.
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Select two pairs of isobars from the following : -

]8Ar29' 18Ar40’ 19K39, 19K4O, 1gca40
A)  oK3®, 5Catl B) oK%, oK%
Q) IBAI_ZQ‘ IBAJA-O [yf ,9}(40. IBAIAO'
112. ey Caragdlest @emwy eredmest ?
A)  Ce:50%, La: 40%, Fe : 3% + upp 2 Gursmssh
B} Ce:50% .La:20%. Fe:20% +wpp o Carehse
C)  Ce:40%. La: 40%, Fe : 10% + wpp 2 Goramasth.
D} Ce:40%, La: 40%, Fe : 20%.
What is the composition of Misch Metal ?
AN !(:Je : 50%, La : 40%, Fe : 3% + other metals
B) Ce:50 %.. La: 20%. Fe : 20% + other metals
C}  Ce:40%), La\40%  Fe (18% +(other ipctais
D} Ce : 40%, La : 40%, Fe : 20%.
113. B55pCaen gysedipen s erfihgy CO, wppd HyO 2 eungh eaflés 802 kJ ybmes
OleuefliuL, ercusueTe) 2 L& @uuy ghuL Geuai@d 7
A) 89 prGanndlynd | B) 802 g;rr@smrraﬁ'll.jrrfn
.C) 89 @wwslprdlymd D) 802 cow&Qyrdlymip.
When methane gas burns with oxygen to glve CO, and Hp0O. what nuclear
mass should have been annihiliated to prdduce' 802 kJ of energy ? .
\A)¥ 89 nanogram ' B) 802 nanogram
C) 89 microgram D} . 8-:02 microgram.
114, dpsaan. siflebeeper aiflubd Hae obieb ag 2
A) HCOOH ~ B) CH3COOH
G)  CH,CH,COOH D)  (CHy)yCHCOOH.
6804450
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Among | tie following the strongest acid is ‘
A) \/-ICOOH B) - CH3;COOH
C) CHSCHZCOOH ‘ D)  (CH3);CHCOOH.

(U H2804 HN03 I.DD@,H.D (i) Br2 FeBl"s
B) ' (1) Br,. FeBr, wpp (1) HySO,4. HNO,
C) (1) NBS wpmpd (i) HySO,, HNO;4

D) i) sz, F‘eBr3 I.D[DD]LD (i) 1Bl'2 FEBT3.

@ i) H,80,, HNOj3- and (ii) Bry, FeBrq
B) (1) Br J and i f1o 80,0 HNG;,
C) (i) NBS and (i) H;S0,, HNOg

D) (1) Brz, FeBrg and (ii) Bry, FeBrg.

116. SpsacoLauppet Sy2 auflpopdsd uHed@ eloaniie B aalldéd rRuGaE

A} CH4Br ' B) n-C4HgBr

C) sec-C,H Br D)  tert-C,HgBr.

The one’_w-hlch most easily undergoes suﬁstitutifm by Sy2 reaction is'
A) ‘/CHaBr ' B} n-C4HgBr

C) sec-C,HgBr : D)  tert-C,HgBr.

117, aiflub Geopbs srd wpgw oiflu Bss sfled QT gy Lrtgsele LLETURD

Blokismig
A)  Jeréigelen : B) eoognrélgeSé
C) Ousdé I rehe D) evesllarmes yrEhe.
6804450 ’ ‘ _ | Turn over
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The indicator that can be used in a titration of weak base with a strong acid is
A) phenolphthalein B) thymolphthalein
Cy methyl orange D)  xylenol orange.

118. Sereumid eflevenien suensmemw bls :

Br N,
@/\/ Nafl,
—_—
EtOH
A) - Gairders allene B) udeSl® alenen
C) ©nsE D) . ousedllgnGanbp afenen -

Identify the type of reaction :

Br N,
_—
‘ EtOH
A) Addition reaction BF/;‘rlzbsi.itrx tiop reaction
C) Condensation reaction . D) Oxidation reaction:

| llé. gugflugdlemes orbpou@d aplgmd S OerdnRerer  aleverié
aflenenGeusid IHPLLHD P Eleeury sopdatiL@aing 2
‘ A) CGeadleleresr Cousmaniwe g@&n@t_rruq alemeney
B) Geuliu Qubsaiue Q@&ﬂ(gl;ﬁhq alemerney
C} o aflensey mBerCGLmiy aleveney
Dj Qeuiu Quissaiue aleerey

The process that involves changes in rate when a hydrogen atom is replaced by

a deuterium in the same reaction, is

' ;
A) * Kinetic isotope effect B)  Thermodynamic isotope effect
C) . Resonance isotope effect D) Thermodynamic effect.
6804450
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120. Qardlfleoasst @i auflamsdiés semnée
n-dlycel e opfesr.  n-dyl e é %sb&,gmrr@ n-QuestGL. e
(1) 7 (11 (111)
A) I>11>1 _ B) His>Il>1
C\ /1> 1>l D) I1>I0>1IL
Arrange the following in the decreasing order of boiling point :
n-butylamine, n-butyl algo_hol. ~ n-pentane |
(H (am (11
Al 1>11> I B MWl
C) H>1>11 ' D) I>1>1I
121. HX cpavdsnn &hemoubp cg@afe&r o Lt Gage eSmerde USpriLmedr ofs
uglel (G Qeredlemen Caramm. odle Uoamiyeior sriugi &1 GerssiLGdlng.
@aer 2 $Cse tlieou ald) eg 2 h | |
i A) - wriGareil sTude alig B) . erdin oriGaiet &riice ald
C) Q& Qsud ald D) epruCuer ofd.

Empirical prediction that the regiochemistry of the addition of HX to an
‘unsymmetrical alkene takes place so as to place the proton on the more

substituted carbon atom of the multiple bond is
AL/ Markownlkg[fs rule B) Anti-Markownikoff's rule
C)  Seytzeff rule ' D) Hoffmann rule.
122. Spsecr_aubper g Sy2 pepiie Caglalener yflyb
A)  peualeve Lyl o e @Ganteny B)  genplleveret @Getmeanyl
C)  n-ySruiléer @GarmemyL D) HGur Queten e GQemmenyL_.
Which of the following can readily undergo Sy2 reaction ?

A) t-butyl! chloride B}  triphenyl methyl chloride

C)/_.«' n-propyl chloride D)  neopentyl chloride
6804450 | Turn over
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123.

Sn2 eflerepeopuliéy ( + ) wrhdlwbd wrgeug eeleurmy ?

A)  &flomis sevenen B) (+)wrhud
C)  (-)-wrHdub D) SGen Gaifob.
The [ + ) isomer in Sy 2 reaction becomes

A} racemic mixture ‘ B) (+)-isomer

® (- )-isomer D) meso compound.

124. sihemsmat. sodans E&HeLoLLE Gsdyd oanlrgCahp aloernie
uwsTU(Reug
A)  sepfler aflenc Ceuawmiy B) Mése
C) Vlermigenb D) Seireut allemet Geugombidl.
Reduction orf an alkyme to an alkene can be accomplisiied by hydrogenation
using
A}  alumina catalyst’ ‘ B) nickel
C) platinum ' : Wdl—ar catalyst.
125. aflvanGQum@perer ar(pEs ' -
CH,
@ + BrCl———» ?
' Br
Br -
N O< )
ale/
' Cl
o @’ - D) .
%'Br
6804450
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Write the product : -
CH,

U +  BrCl——> ?
Br
A) O< | B)
: ~" "l
CH,Br
c) Dk
\ “B

126. Jeeumn  smiCurenete  Qsm@doenst g ETAL IS T OV Tl LT

Br

Qi et (HeTengy 2

i | i

A) CH, ™ OMc - B) CH, ~ ™ H
i 81
| Il

© CH,~” ™\ CH, ' D) Ph~"NH

Pick out the most nucleophﬂic carboxyl group :

0 o)
A)/ Il 8) I
CH, - ™ OMec CH,~ N\H
O 0
C) ! D) I
| CH,~” \CH, Ph-"NH

127. lleveanQurmenarg Carph@a® :

2CH,C0, Me 2oMe
HC
0 O 0
A) P || [ B) Il [l
CH,~ ™~"CH, CH, "X\ oMe
0O ’ .
o) [l D) Il
CH,~ ™\ CH, CH,0~ N OCH,
6804450 [ Turn over
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Find the product :

NaOMe
2CH,CO,Me ——— "= 5 2
HCl
6 S O 0.
A) [ Il BL/I 1 T
CH, /\/\\CH3 CH, NN OMe
i i
It A )
9 en,~NcH, P) " cH,0- N oCH,
128. cusllenin Geonhe em&sHeut Qurpaers CaihOsd
S =)
A i ET Bl
@ e
C) Br D) I .

Find the weaker nucleophile :

AYTF B) Cl
(] : =
C) Br D) I .

129. &pbseocupnieh erg Bigs HECly oL e afleaflbg oo g anoL s HB ?
A) 1 -Ghuetrie bt By 1-Querer_at
C) euemenu Gluebtie st D) 2-Quenedr.
Which of the following gives an aldehyde when reacts with aq. HgCl, ?
A) 1-pentiene B/l -pentyne
C) Cyclopentene D)  2-pentene.

130. dpsseo.  Cerwhsenst & yGorller whmp Cemgud evanl yTéHens HL e
yGrmorunib elenené@ 2 LD ?

A)  CyHsCOC,Hg B) C,HOH

Which of the compounds gives bromoform reaction on treatment with bromine

and sodium hydroxide ? /
A) CoH5COCsHg - By CszoH

C)  CgHsCOC;Hg D)  CyHsCHO.

6804450
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131. gyrarev-2-Qugdles ws&s@am  Quet_emae - QLreed  @laranyHL s
SBeoaiu@isdl el sob oeoearGurmener  t-BuOK®  awer 1 apalenesorw

Syl Lrees@eear ) Carsama dosb@b elererQumme eresen 2

A)  3-Opdler mesGarr ClueGLesr  B)  2-Gugdler enssGenr GLTGL ¢
C)  es&Germ Quemess , D} oesCamblansded.

Trans 2-metﬁyl cyclopentanol on treatmeni with tocyl chloride and the product
on treatment with t-BuOK"* the product formed is

A) 3-methyl cyclopentene B) 2-methyl cyclopentene-

C)  Cyclopentene . D) Cyclohexane.
{
132. OH™. RO~ wppip RCOO™ erdinfiest ouefaefia s@sout parowsbsrear aifless

é;]ULDl:D .
A) RO™ > HO™ > RCOO~ B) RCOO™ >HO™ >RO~
C) RCOO™ > RO™ > HO™ D) RO >RCOO™ >HO".

A) RO™ > HO™ > RCOO~ B) RCOO™ > HO > RO~

Th7 of nuecleophilicity of the anions OH™, RO™ and RCOO™ is

C) RCOO™ > RO™ > HO—_ D) RO™ > RCOO™ >HO".
133. 2-1_;(B|j‘rr(8mmﬂt51'_(31_661 SposanTeld HenrsHs KOH 2 Lar smeug
A) 20yl Lenmey B)  2-Oyr Gei
¢} 1-yliear D) Oy GLer.
2-Bromobutane with alcoholic KOH yields
A) 2-Butanol ' B) l'/:.2..'-]3»utf:ne
C) 1-Butene ) : D)  Butane.

134. Quetremlils oybleud (I).' .%r’rg.(‘ﬁg,rr el Gy Quenterdéd syubled (I1) whymd HF&ECsT
@CerGyr  Guetemile. ouflad (1) gy fweubfesr IMems  wrHledl K Aodlin

gnieuflensle
A) I <l <1 B} M<ll<lI

C)  I<IN<Il ‘ D) H<Hl<l

6804450 : { Turn over
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The order of increasing values of dissociation constant K of benzoic acid (1),
o-Nitrobenzoic acid (II) and o-chlorobenzoic acid (111) is
(A) I<Il <l . B) <<l
C), <M<l D) li<N<L
135. Spsmcoil safl 2 niiyseile Hleaells geatow auflams
CH, (1) (CH,), CH (ID), (CH,), C (Il) vppid> CzHy CH, (IV)
A{*/Ivﬂlbu"z.: B) IV>I>Il>Il
C) I>U>W>IV _ D) 1=1IV>II>I0lL

The order of stability of free radicals among the following

CH, (1), (CHy), CH (ID), (CH,), C (1) and CH,CH,, (IV)

: A
A‘/I\;>lll>ll>l : B IV>1>1>ll

C) I>11>1>1V D) I=IV>1>IL

136. arggenmedlolihihg) g pleded 2 @t &) euficp o

A) El _ B) E2

C) El wbgpid E2 D} é@é,&,m.

The formation of ethylene from ethanol follows thc_mechanism
A El | | By E2

C) Both El1 and E2 D)  Reduction.

137. &psaaor.. Gorwhsenei ergr HBr -2 et erefidler aflenemyflyd 2

A) @ B) CH, -CH = CH,
C) Q ‘ D) CH,CH,CH,.

Which of the following compounds would react readily with HBr ?

A) @ E)/CHS—CH=CH2
o () D) CH,CH,CH, .

6804450
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138. fpsergud Ceivshler aigar Hyemwlillaer Blfamidisaayd

HO H
o
CH,
CH,
Al R : B) S
C) E D) Z

Assign the confléuration of A:

o
>\ CH,
CH, /

A) R _ B} S
C) E ,, D) Z.
139. &\péeaeirsubnier srtr;g, Carwd eugen wTHHUGDSS Q&nmﬁrq@&@b 7
A) Tyl ieest B) | 2-yp” g 66t
C)  1-Quesneer D}  1-yylemiebr.
 Which of the following will show geometrical }_;_;__qmerism ?
A) }-Butene ‘ W“"' ,Z{éutene
C) 1-Pentene D) 1-Butyne.
140. SCsrm LmiLmflé opbleud gpp
A) gl spHél it Weney
B) sl spbd usuppg
C)  epell &ppHé) u@q whHoid spefl &phél uBTLHDSI
D) el appoid e sEpgueheng.

Meso-tartaric acid is

A)  optically active’ B} optically inactive
C) optically active and inactive D)  optically reactive.
6804450 [ Turn over

www.upscstudymaterials.com



www.upscstudymaterials.com

UDCH | 50
141. HCN wpmyd HNC ... DT DOl 6T .
A)  Qergd s B) @uiig swblee
C) &l sgmsbigm i ' D) @u.. -
HCN and HNC are '
A) functional isomers - - %automers
- ;
C) chain isomers D)  position isomers.

142. &6y Qan@baiu_@eien by semla s aﬁaaﬂmrmgx_ﬂ)r_qgs&r &lGﬁ.G‘ITQJ ?
A mHese CT B B) m5Gger
C)  2-Uyl enebr - D) Guender.
Which one of the following does contain the most acidic hydrogen- 7?
A) \/E(thyne B) Ethene
C) 2-Butyne ' D) Benzene.
143. BgCseflel mmaorliLi(dy Gied&mer i £1 &
A) sp : B) sp2
aX p° : ' D) dsp?.
The type of hybridisation in metl:ane is

A} sp B) sp?

Q}?ﬁ’%/sp?’ . D) dsp.
144. sp @wre‘w:éudtﬂsm@rrem S ealalles aremiu@id C = C Sevesoriiy denb
A) 1544 ~ B) 1344
c) 1214 | | D) 1394
The bond lengh of C - C in sp hybridised acetylene is
A) 1,54 A | | B) 134A

D) 139A.

6804450
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145. dpssramid Corvhseie gyllamé adug ag 7

H O
: NH NH
A) B)
- ‘ @)

OH
C) . D N
- H

Which compound is an aminal of the following ?

. H 0
' NH . NH
AT . . B)
‘ | i

OH - ;

C D} N
H
146. dlaayn Hlenewumen, Cumbles sweflows Cari@a@-

S
i

<)

dlr-

Pick out the most stable cation :

b

o

A) B

D)

o~

<€)

147. D-gepsGaTediés sramL@h Sieawwpp wwnhsefler o abams

A) 2 B} 5
C) 6 D) 4 .
- 6804450 { [ Turn over
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No. of chiral centres in D glucose is

A) 2 | B) -

5
c 6 s 4.
148. a?@é&:rrso‘nmsﬁr_bgﬁ]é) ag euslleown Blghs srrb 2 o
CONH, ~ CH,NH,
A) @/ - B) |
- NH, - N,
o » JoJ
Me :
Which of the following is the strongest base ? 7
"~ _CONH, | .. CH,NH,
A) @ e P ’@/ )
NH, | NH,
o Me &
149. g (S ) gemeangSurGot Garwgdlhe &peergmid smbpnsaila qg sflurer anbhry 2
A)  (S)eaug fPu eremeud @iiden
B) (S) erebiug @opeuran aleverd Hpetreid
C) (S)eamug mm@&pg’oeﬂ
D) (R)erebrugeh saioeronmy. Sibub.
For an (S) enantiomer which of the following statement is true ?
A) (S) indicates small amount B) } indicates low reactivity
C)  (S) indicates dextrorotatory . D)‘/_I:irror image of (R) ;
150. CH3(CHOH),COOH actip Gefopdler 2 aren ditenwowhp sriuedt gmukse nHHd
ATY-Y:) @(‘S&rrmr'rrs.stﬂm ereouTemiibens (panpBu
A -Lne "+ ' B 2.4
C) 2.3 ' D) 1,4.
6804450
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For the compound CH4{(CHOH), COOH, the number of asymmetric carbon and

e

A) 1,2 | Bl 2.4

the total number of isomers respectively are

C) 2,3 D) 1, 4.
151. gpsscor uallsdila Hoaniussaon Gpueafamsdis adarn ewyb 2
o, _
. CH;CHCH,4
+
. CHz CHOCH,
+
L. CH,CHCOCH,
Blauppret
A I>us>1 ' ‘B) I>I>1
C) HI>I>1 D) N>I>IL
What is the decreasing order of stability of the ions ?
.’
L. CH; CHCH 3
+ .
. CH,;CHOCH;,
+
L  CH,CHCOCH,
Of these
A) I>11>1I0 B) >l >1
C) Ni>1>11 D) I>1> Il

152. a?pé,e,cobn_mj)@sﬁ UTIT &S SHETEmDEHL LG &F ?

A) el 2 piy - B emiGuraflub e
C) sarl egibler syuwef D}  SHaGeo E;r;"r'n_fséT‘.
Which /one of the following species is paramagnetic in nature ?
AV /Free radical B} Carbonium ion
C) | Carbanion : D)  Singlet carbene.
6804450 | { Turn over
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1.53: rHCoe ppowddadle sriued-eriudl o Naeoiy il Lraser GubGummhgid

154.

1565.

YD »

A)  p-p yiiilirésen Crmee Cri 96fldr aufiGu

B) . p-p gyiillLmesel sy &fHe Cehesams
G ept-s i Crdset Crmée Cot ¢ dlar ayfiGu

D) sp3—5p3 T revamer Crmee Cri ¢l aubliCu.

The carbon-carbon o-bond in ethane Is formed by the overlap of

A)°  p—p orbitals axially B)  p-p orbitals laterally

C)  sp®- s orbitals axially IJ]/”IIS-]?S—S;)3 orbitals axially.
) (peodbaadles 2 eiien  S@mbsd UDOeueh ewlidlée  seLhHaeTen
.................... eTesTIL{RID .

A) HLLemiliy B) eus ey

C) Qg 61l el f)) @)emwLy.

Spatial orientation of atoms in a molecule is called

A)  constitution 3 By~ conformation

C},~ configuration ; D) composition.

SPSATEVID, (AT IQIeNG ahld) sp Rl hsatis sTereuGHDG 7
A) CH, = CH, B) >: C= C<

C) @ D) CH;— CH,

Which of the following molecules contains sp hybridisation ?

A) CH,=CH, BL//> = C= C<

156. Syl afeeandle el sdpeus® ghu SPsan_aupon Se&Hs :

CH,
. I =
—Cl H,C
_CH, C 3 >CH ol CH, — C— Cl
CH;C1 - CHy |
I B | ) v
A I<l<m<Iv | B) IV<N<H<l

C) IVe>Ilsl>1 o . Fi D) M<I<Il<]V.

6804450
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Arrange the following in the order of reactivities for Syl reaction :

i MO : |
_CH,—dl S on—a  CH—c—a
CH5Cl CHy |
H,C CH,
g - o S v
A I<H<H<IV ' B) IV<ll<Ii<I
C) W>IlHl>1I>1 D) M<l<Il<IV.

157. Leylenansy Qugda ariued adyuailler g e
A)  wp&Camrem semd B) Yyl
)] g,erregjg.m D) @@Lﬂjﬂ@.
The shape of trimmethyl methyl carbanion is |
A)  planar trigonal 3 Br'l.ffpyra.\midal

C) square plaaar D) Leipyrarnidal.

158. &psaeo aleaver Lphlu sflurer cumrsdlub eg 7

COOH COOCH,
CH,OH
H " H OH
A © HCI
CH, CH, -
(+)- aréys oublewd (- ) Qudé eorsGL.

A)  (+) ersigs ospflebd eueghsfl wHDD D Sjemibly 2 eeng e (=) Cioglé
arHGLL @Lehaifl whmbd L emwtifles 2 efeng

B)  (+) wpmibd (-) el edt @g;rrg_frq@umgj ‘

C) DL érsisrugjin d. ! earugid 8y Gur@et GlamesTgl. (+) wHpud () @r’r. 258
GG

D)  orsgsds bled whopd Ouwdée ersGll  Gueind D SjeowdeuGu
QuphpieTenas. epafll FiphHpi LGSt WL GHD (+) NEhHe () & wrpFlpg.

6804450 ' - [ Turn over
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In the following reaction , _
COOH COOCH,
CH,OH
H OH — ... " H OH
HCI
CH, : CH,
{ +) Lactic acid (.— ) Methyl lactate

A)  {+) lactic acid is dextrorotatory and has D configuration while {~) methyl

lactate is laevorotatory and has L configuration
B)  (+) and (-) are relevant to configuration
C) D, L have the same meaning as d. | and (+) or {-) is a superfluous notation

Moth lactic acid and methyl lactate have D configuration in spite of the (+)
changing into { - ). '

159. #Qp Qar@ssiu_Gerer 2, 3-eLyGrrGumiy  Cer apaksader sflurer oo

PEBDLIL Tg 7
ciy V
H ~—— Br
Br——— H erarug
CH,
A) 2R 3R B) 2R 3S
C) 25 3s o D} 2S5 3R.

The configuration of 2, 3-Dibromobutane

T SR S -
Br——— H is
CH,
A)\f;R 3R B} 2R 3S
cT”fzs 3s D) 2S5 3R.
6804450
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160. af@é&sdummfb@eﬁ aoeu aarmsrlGumot CgmysemTs Qmeen 7

CH,—CH—CH, =~ ' CH,— CH~-—CH,CI
| . o I H,N— CH, — COOH
Cl ca
(h (n o (111)
: .
I
fIJHzOH CH,—CH, — (I: — CH,Br
H,N— CH — COOH _ Br
(v) V)
A} LILV B) I il I
C) ‘I/ V.V il : D) ILNLV.

Which of the following compounds exist as pairs of enantiomers ?

CH,— CH — CH, CH,— CH — CH,CI
! | | ' H,N— CH,—COOH
12| / [T ;
(- o ()
: ,
. |
fIJHQOH CH,— CH, -—c]: — CH,Br
H,N— CH—COOH B
(V) | v)
A LILV B) LILII
C ILIV.V | D) IILV.

161. &psaco. Getvhisgnel aeeu Hav KD g FTETE WTHHLKESETTS HeLD 7

A)  CH, = CHCI | B) CH, = CH-CH=CH,
C) CH,CH,CH = CHCI ‘D) [CHy).C=0.
6804450 . [ Turn over
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* Which of the following can exist as cis and trans isomers ?
A)  CHy = CHEI ' B) CH, = CH-CH=CH,

wf_ * CH,CH,CH = CHCI D) (CHy),C = 0.

162. g@psbanraLar almayflbg Ugs agawearw gasCerdr admp auflCuT@Gens

SHID 57wl
A)  Quellien sepsd B) Jeearé ean  gdern
C) Ouellgs’ seagsd D) eeplgréede suber.

The reagent which forms crystalline osazone derivative when reacted with

glucose is
el
A) ° Fehling's solution By Phenyl hydrazine

C) Benedict solution D) .  Hydroxyl amine,

163. ey Cpifes ouafy dr sl Caips Geopsdie Haly Hpsossd

Carbnelsding
A) Fed* B) Cro*
i TR ™ o D) AP

With which cation alizarin will impart a red colour on the fabrics ?

A)  Fe3t T e

c) Ba?* Dg,/ AR,

164. D-genéCarelle fpadian sumblium®
A) - CppH,0y, ‘Bl CgHyg0g
C) CGHIZOS ‘ D) C6H1406'

Molecular formula of D-glucose is

A) /elzﬂlzoll B) CGHIOQG
- v b
C)Y  CgHy 206 D) CgHy405.
6804450
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165. a-D-g@péGsmen, B-D-@@&G&naﬂm

A} - Guie sobae brhBlukee

B)  oGenmoisei

C) o1 aflevaey wrhbus e

D} = @eubnsit ergediéamen.

a-D-glucose and B.-D-glucc;se are called ’

A) Tautomers . B)  Anomers

C) Resonance isomers D) None of these.
166. Grrear ellwariureoer a8 @O&aTE 7 o

A GeEp&Gaemey : B) JdipsGrmav

C)  &&6Cpren : D) uwrhfié sulevs.

Which does not reduce Tollen's reagent ? |

A) Glucose ‘ -B)  Fructose

C) Arose D) Formic acid.

167. furews afleeniie: FOLED sres grer Sair@uUIGsT -
L
A) : CCl, B) CCl,

@
C) CCl, D) CHCL
Electrophile involved in the Reimer-Tiemann reaction is
; @
\/ : CCl, - B) CCl,
e
C} CCl, D) CHCL.
168. &psacoL aubPlediGhg QUL sibaamraw &b :

D-gen&Caray, D-srasGLreay, D-AGursy, D-nr@asmsn

‘A)  D-gen&lamen | B) D-sresGLmen
C) D-AGumeh D) D-wr@emen.

6804450 [ Turn over
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Identify the penta sugar in the following :

D-Glucose, D—Galaétose, D-Ribose, D-Mannose

A)  D-Glucose B)  D-Galactose
Cl~ D-Ribose ' D) D-Mannose.
169. S GLmev satue QHTLE] BLgés ... Qereiy aeon 2-gadpg.

A)  dleflwrefleét GgrgLiy aeon

B)  Geuré Qar@iiy apsop

C)  eiyayt-GerGLirér QamEiupeon

D) Jdflié-dgrinev Gareliyapen.

.................... is a way to lengthen an aldose carbon chain.
A ..’I.{illainl Qynthesis

Bi Wohl's synthesis

C)  Fischer-lndole syrtaesis

D) Friedel-Crafts synthesis .

170. dpsocoapded ehg aeociCuress Héfurdar  opfiGaoppd elearée

2 ' LUBEDg 7
A)  Quenden B) euflgey
C) Jewré ' D) mrigele.

Which of the following substrates can unde:yhchlbabm amination reaction ?
A) Benzene ‘ B Pyridine

C) Phenol D) Naphthalene.

171. SOfé Hymi dv eflevaniés FOUGD aaslgrer seur Qumme

A) R—O—R ' B) RCOOH
C) ROH D) RY.
6804450
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Electrophile involved in the Friedel-Crafts alkylation reaction is
A) R—O—R | | B) RGOOH
C) ROH , D// R® .
172. Spsaramleanble .srgg eretﬂé]éo 2Crmom’iy s eplCrm ghp aloendd rRUGHDE 7
A) swGerm Quendes B} OQusdeé @U@T@&Wélul_'.
C) oNBsmé D) S Gur SGeorest.
Which of the following is the most reative towards aromatic nitration reaction ?
A) Cyanobenzene B}  Methyl benzoate
C)\/Anisole | D}  Acetophenone,
173." flebluadl-Seut Qareiy alemer, Gep&aCarelen seuairn uwaTuGEDS ?
| A}  BeEps&lamay G}Jfﬂsm&u‘ile'\) SG BT HHEILESHS
B) w@@p&sGsrdy auflosile g siLmear Gopss
C) e eTFeDTR&MM L5TTFa
D) uTell eTEB@IHHmeT CBTESHE.
Kiliani-Fischer synthesis in glucose is used to
I\J\/step up the glucose series by one carbon
B) step dow‘n in the glucose series by one each
C} synthesise disaccharides
D) synfhesise polysaccharides.

174. af@é,&,rrccismsﬁrj)rﬁé\: eré@ewn LCImAGabp eflmerfd sifle allaenyfidng 7

CH,
. LB
OMc NH,
6804450 ’ ' [ Turn over

www.upscstudymaterials.com



www.upscstudymaterials.com

UDCH 62

175.

oré@Lray (1), GegBearey (1), &&Gumen (I11) whpyid '_c';\JrT‘&'BGL_l'I'Gi’U (IV) 266 (&G0

.&r’re'w,mlj&;eﬁ

A} I, 11 whoyd 111 B) I, 11 b TV

C) IL, Il g TV D) {gmeu semerggid.

Out of maltose (1), cellulose (II), sucrose (III) and lactose (IV), reducing sugars are

A) LllandIN B 1 Il and IV

C) 1L Il and IV D)  all of these.

‘ CH,CI KMnO,
176. @eualemenilé Qgrisdliles CiHy —————» (X) ———— (Y]
AICl, sufle Bifish

ellemer@umqer (Y, ? ‘

A)  @CamGyr Querden B} Gluaieméd gean®

C) OQuengmidls syblesd D) Quended.

In the reaction sequence

CH,CI KMnO,
i, Mgt (X jm—pr—r (Y]
AICI, ( anhyd. )

The product (Y} is

A) QJJlorob'enzene - B) Benzaldehyde

C)v Benzoic acid D) Benzene.
177. CgH4Cly +Cl, r ,  CgHsCly

s @@CenmGrym Gluedrdedt g eor@GenmGyr Qe dein .

Y G616 s @uwren wrpdlud w @b 2 gerdlpg. aaiGar X asilg

A)  o-wrhlub B)  p-orhiuid

€)  m-onmhdud D) @eubmst ageybldemen.
6804450
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Fe

CgHyCly + Cl,y CgH3Clg

[bichlorobenzenc) ( trichlorobenzene)

Only one structural isomer of Y is formed. Hence Xis
A) o-isomer _ By~ p-isomer

C} =~ m-isomer . D) none of these.

178. gyovemas Guardar surdlss collfi_c-dlgrdoi’ & gdamad ghHp o
QuUTEHSTH ellenerumgin. gGlareie

A} alevas Haeyd Qugeureig

B) ellenerelemer Qumrpefle 2eney Geomey

C)  ue Yoesa ghp alererGluTmHeiasT 2. [Heur e pear
D) @eualemen oidla quﬁu.é_f,,é]e'u B QUIDE Gnig Wy

Alkylation by Friedal-Crafts reaction to give alkyl benzene is not a suitable
method for preparation of alkyl benzenes because

A) reaction is very slow

Bj 1d of the product is low
Q}p:lyalkylated products are obtained
D) it requries mgh {emiperature.

179. #pssc alomasiller sflewrs 2 Bared allevaalaer Cum@sT wrg ?
OMe

SRR
+ e+
AICI,
OMe : : OMe
O .

A) 5 B)
OMe
OMe
C) D)
6804450 | Turn over
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Write the major product in the following reaction :
OMe

| >/\ Cl
+ —_—
o AICI,
OMe ' OMe
A) i | ) B
OMe | :
C) D)

180. o whpid B Cemoi GeméCamray Fohlamen & evavailedr ga1 epefl &pdd wdhiy
+ 526 erehen 'Sybisreruitias - ereleneney a- Cembl G enéCanev ohpd B-oyCeonmord
GE@pHCamen 2_sieng LSS &EHHHIR.

( petn spefll apndl Wiy o LHDDL B-GEPsECaTeveEG WearpCu 1122 wHgbd 187 )
A)  a-gGarmoi 50%, BroyCeanmot 50%

B)  oa-gCaimwt 60%, -9 Garmot 40%

C)  a-gGemor 64%. B-gGamod 36%

D) a-g Geormot 36%, P-gGermot 64% .

How much of the a-anomer and how much of the p-anomer of glucose are

present in an equilibrinm mixture which shows the specific rotation as + 526
given that specific rotation for a-anomer and f-anomer are 112-2 and 187

respectively ?

A)  o-anomer is 50%, B-anomer is 50%
B) o -anomer is 60%, p-anomer is 40%
C) o-anomer is 64%. B-anomer is 36%

Dl/ a-anomer is 36%. PB-anomer is 64% .

6804450
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181. Quendenr 2Lt n-upleoud @Qameon® Gsibs gblallud @Cerer®

perefamaniéa aflaeariu@bd Curg Hea.seb elaer0QUTme 6T 2
' CH,

A)  CgHgCH,CH,CH, B) C(,-HF,CH< |
. CH,

CH,

| - |
c) CH, , CH,CH, D) ,
- CH,

Reaction of n-propyl chloride with benzene in the presence of aluminium

- chloride gives

A)  n-propyl benzene CgHgCH,;CH,oCHj,
CH,

BY”  isopropyl benzene C_BH5CH/
= NcH,

C)  p-ethyl toluene CH, —@— CH,CH;,

.CH,

D)  mesitylene CH; —'\EZ ;
CH

3
- 182. 50 fl.ell. 0:1 M HCI seogagu e 40 5.6l 0-1 M. NaOH seged Carsainme,
semyeellest pH gy wrg 7 '

A} 3 o B 7
c) 4 | D) 5.

What is the pH of a solution when 40 ml of 0-1 M NaOH is added to 50 ml of
0-1M HCI solution ?

/J
A3 | B) 7
C) 4 D) 5.

183. dpeumeeaipper ég; rflyem_wg ?

“A) SIO, : B} CO,
C)  SnO, ' ‘ D) CaO.
6804450 "[ Turn over
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Which one of the following is amphoteric ?

A)  Si0, B) CO,

)
C)\/ SnO, D_) CaO.

184 Qeroumiv wivevwiles erg) &8 Byl gretsenetéd: Clsmeiorng maah 7

8 SO" ?le oF17 _ B) 4C'2 . n4. pI®

C)  &CM't N oF17 D) ¢CM 7N—34 oF19.

The triad of nuclei that is isotonic, is

A}V/GCM 7le oF!7 B) 4C!2 N4 9F19

c) gC' N oF!7 D) 6C14 N4 gFlg.
185. @us&r&rrdx@emgm@ whpd HFCLTICGardr mevmeew WMeQsGEsr vuaTLHD

Baés flpmpe wpeon wrg 2 |

A) &,@UUUwséi @néan B) euctttemill U@L (Lpemm el

CCH uBRIBDITEEY D Llugenndges:

Which is the best 'tcc.hnique to separate a mixture containing benzaldehyde and

acetophenone ? .

=

A)  Solvent extraction ; 'B) L~Chromatographic method

C) Sublimation ‘ , D) Crystallisation.
186. @Cemm@ym empl Grm QL jibewes Gamuménl (I ‘ aopl Gy aeip Cerwgdiar

@lenwiy wirg ?

A)  [CO (NHy), (NOy) Cl] NOg B)  [CO(NHg), (NO,CI) (NOy)]

C) - [CO (NHg), (NOy) CI] (NOg), D)  [CO(NHg), (NOy) CI] NOs.

The composition of chloronitrotetraamine cobalt (III} nitrate is given by

A)  [CO(NHy), (NOy) Cl| NOg B) [CO (NHy), (NO,CI) (NO3)]

C)  [CO (NHz)y (NOy) Cl] (NOg), oy [CO (NH3), (NO,) C1] NO3.
6804450
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187. amwr (y) sdlitser

A) aqé]&; 24 DD6s QSISO 6Tl [T et 6

B) - @ophs bmé Glemeson VLT il

C) sifls syppe QeraoL Nasnps Sjemes s

D) Qeilst e oredorer. | |

Gamma ( y) rays are

A)  High energy electohs_

B) Low energy electrons

C)Aigh energy electromagnetic waves .

D)  Geliger-Miiller counter.

188. Hgla_ -€6T UG 6D

A) - @&G&rr_m emb

B) w&Ganen SybE

C)  w&Qanam QnUInSE:

D) prao wdlder o weoedle wl b Jaoaminile FRULTE aasl freér 2 e
6uLg. 6D, '

The shape of Hgl,™ is

A) » Planar trigonal

B) Trigonal pyramidal

C)  Trigonal bipyramidal

D)  Tetrahedral with nonboundary clecl‘:‘ron in one comner.

189. [Ni (C0)4] aaiD Semamiayd Gamogdle Ni eretuge oy sbedlgQarhp e

A +4 ' B) +2

c). 0 : D) -2.

The oxidation state of Ni m[m (CO)4] is

A) + 4 B) ¥+ 2

C) M : D)y -2.

6804450 : 'L [ Tush over
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190.

&fip afpugarsdl cped afpugard@sd Q_pmg)mmemu QurEs S, SP&HGTERID
aphnsefles erg enihea 2606 ?

A)  OsflhCe@Ess afpugarssd aaug Gueid

B) efpugemea Sl Qurpsswrear geapde NNE0sH&He Gueb

C) . afpuge erefldlés 2 e

D) efpugensense Bs sdle serale afpugarss sy CsmarLGAng.

Which of the following statements is not applicable for precipitations involving

organic precipitant ? ’

A)  Selective precipitation is possible

B) Very convenient to separate the precipitate
C)» The precipitate can be easily dried
DL. ~ Excess precipitating agent can be applied for precipitation.

PH bdliy 476 2 oL w @ sThsH saysoeg surfés 50 ble). 0-2 M Gsmguib

191.
G segegy e Corssmiu Couongu 01 M 8llgsd siblevgdler Lmwear
wrg 7 ( 2896 sblewsdler pKa = 4:76 )
A)  50l.al L LT o6ABhabl
Cc) 258 D) 75 f.6.
How much volume of 0-1 M acetic acid should be added to 50 ml of 0-2 M
sodium acetate solution to prepare a buffer solution of pH 4-76 (pKa of acetic
acid = 4:76 ) ? -
A) 50 ml By 100 ml
Cy 25mi ' D) , 75 ml.

192. Ni%* e Hesdlpu  GCedald e;rrc;smuun_t_rr@m Cg{g)smsm erefiglen eremL_uJ[&uJu
LwesTU(Heviag)
Ay  s* B 00>
C)  sybeevd D) DMG.
Even if very small concentration of Ni2* is available, it can be conveniently
estimated with
? O _ | B) COs%"
C)  Oxine D)/ DMG.

6804450
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193. gt 2:Cars el eger d yifliLreda prarmes reflyagag NifleEh Senael
Al sadlEgd sap Guer s
B) aenwpd aige el qeugs_éﬂ[j)@. GO S 2- &6 g
C) - aaipdl augen redll evsems el oidlelons 2 eiergy
D) ea@wd reflyasas ol @opeans 2 g

The extent of splitting of d-orbitals of a metal ion ih a tetrahedral ligand field will
be '

A) unpredictable

" B) same as in an octahedral ligand field
C)  higher than in an octahedral ligand field
D) lower than man octahedral field.

194, ulguwe I o uligwée II &.I_.GEST Qurmsdl. £8yp QerResiLl Gerer GHllEsens ‘
Garan @ sflures el owd CothOsd '

LI ieo 1§ uCigwe Ii
( 2 bmé wrHOD ) ‘ (Deranp g ﬁﬁ)mrrmmtﬁ]s&r uyly )
al 2la® ' 1.  @médleuliy
b) 21 6m® arevdLyranBe 2. smwrs sdisen
c) - Qeuefdan(® eraudlgresiser 3. slyavermgibd
d)  pedEnn direyser | 4. X-sdirset.

GPGs e ;

a.
A) A 4 3 1
B3 4 1 2
o 1 4 3 2
D}- 2 4 1 3. y : a
6804450 | '- | | Turn over
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Match List I with List II correctly and select your answer using the codes given

below :

List I

( Energy change involved )

a)
b)
)
d)

Codes :
a
w2
Bl 3
f/
C)‘/h
e =

D)

Nuclear

Inner shell electrons

Valence electron

Molecular vibrations

4 3 1
4 1 2
4 3 2
4 1 3.

List 1I

{ Region in Electromagnetic spectrum )

1.

2.

Infrared
Gamma rays

Visible

- X-ray.

195, Bino Tt (IV) seogeer HyOp Carégid Curgl oy %g@é‘ Bimb Q& Huiuge 5ng@&

A)  d-d@LuQuuirsd

B) OureyéBevr Qaredlesr n — I GLuGiLwrsd

C)  Ti(IV), Tt (1) g6 sp(H&swenL_ge

D) Beraenn GLliGuwisdl.

Aqueous titanium (IV) solution develops intense orange colour on addition of

. Hy0,. The colour is due to

A) d-d transition

B) —+ II transition of the peroxo group

C) reduction of the TI(IV) to Ti (III)

D) charge transfer'transition.

6804450
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196. Fe,{CO)g aietim syemewiayd Catungdles ameumu@nd uredlaieoiiy &mT @l anete
Ggredadda aanatilsbama urg 2
A) 2 .B) 8
C) 4 D) o

The number of bridging carboxyl groups in Fe,(COlg s

_ “
A 2 BIvB

c) 4 D) oO.
197. NICO), Soeore Camngdlet @ersameliy agl 7
A) sp® | B) dsp?
C) Sp2 D) dsps.
The hy?-;idizaﬂon in Ni{CO), complex is
A sp? B)  dsp?
c) Sp? | , D) dsp°.
198. @eupmeir sTeneu Fifler @eDhs ierey seyuyd wdlin) Clemesor g ?
A)  AgCl
B) AgNO,

C)  onCureflur gpeireieaauley AgNOS
CH, NH, .

Dy pebrenllemeuulldy AgNO4
CH, NH,

Which will have poor solubility among the following in water ?
A) v AgCl
B} AgNO4q

C)  AgNOj in presence of NH,

CH, NH,
D)  AgNO; in presence of | .
’ CH, NH,
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2199. @@ dlied 0h M Fiflu g{[ﬂégmnsoﬂmn &smuégggs&r 05 Gurér nCoreiun
@(Benrrsmijm_,@e';rmu‘&,éif-r allemeney u_trr'g;] ?
A) eaplgriaevd 2wuedlé @&[&aﬁ]w@ré GoD&dlBIDg
B) sagedla pH wdlou odsesdng
C) seogeda pH wdullsr 55 ahs alemerayd Geovena
D) onlourefluraler Nfles aSasms oidlafadng.

What is the effect of addition of 05 mol of ammonium chloride to 1L of 0-1 M~

aqueoug,ammonia solution ?
AL_// lt decreases the concentration of hydro.xidc ion
B) It increases the pH of solution
C) It has no effet on pH of the solution
D) It increases the degree of dissociation of ammonia.

200. 01 M NaCl seoysefier AgCl-sin seordipetn wdliy wrg 1 AgCl-er K= 1:1x1071°
A) 1 Ix107i0 Blalertans
c) 1-1x107° i D) 1-2x107'0,
What is the solubility of AgCl in 01 M NaCl solution. ( Ky for

AgCl=1-1x10"10)?

A 1-1x10710 - B) 1-1x107!!
e 1-1x107 D) 1-2x10710,
6804450,
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